1 O - 3 Operations with Radical Expressions

You simplified radical expressions.

* Add and subtract radical expressions.

« Multiply radical expressions.




ConceptSummary Operations with Radical Expressions ]
Operation Symbols Example
addition, avb+cVb=(a+ Vb 43 +6V3=(4+6)V3
b=0 like radicands =10V3
subtraction, avVb—cvVb=(a— Vb 12¢/5 — 85 = (12 — 81/5
b=0 like radicands =4/5

Examples 1-3 Simplify each expression.

@3V5 +6V5 9V5 2. 83 + 5V3 13V3 3.V7 - 6V7 —5V7
4. 10V2 — 6V2 44/2 5. 4v/5 + 24/20 85 6. VI2 — V3 V3

7.\/§+\/_+\/_ s\/_+2\/_—sf_3\/_99\/_(4\/_)72\/_
5V2 +2V3
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Simplify each expression.

@3V5+6/5 95 2. 83 +5V3 13V3 3. V7 — 67 =57
4 10V2 — 6V2 442 5. 4/5 + 24/20 85 6. V12 — V3 V3

7. V8 + V12 + V18 8. V27 + 2v/3 — V12 33 9. 9v2(4v6) 72V/3
5vV2 + 23 —_




Simplify each expression.

@3V5+6v5 95 2. 8V/3 +5V3 13V3 3. V7 —6V7 —=5V7
4. 10V2 — 6V/2 42 5. 4V/5 + 2v20 85 6. V12 — V3 V3

7. V8 + V12 +/18 8. V27 +2v3 — V12 3v/3 9. 9v2(4v6) 724/3
5V2 +2V/3 i g



ConceptSummary Operations with Radical Expressions J
Operation I Symbols Example
B aV/b(\/g) = af\/bg V2(5v7) = @3- 5)(v2-7)
multiplication,
b>0,g=0 Radicands do not have to be like =15V14
' radicands. |
10. 4+/3(8V3) 96 1. V3(V7 + 3\/_) 12. \/_({/_+4\/§) 5v/10
324 =32-3 V21 +3V6
Example4  13. GEOMETRY The area A of a trlangle can be {_( 5"( °~
found by using the formula A = bh wh
b represents the base and h is the helght MW3+Vs
What is the area of the triangle at the right?
14.5 + 3v/15 -

2(_‘_Y‘> 2V3 +V5
165+ 143@ VS 24 C1S
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~ractice and Problem Solving

Simplify each expression. 18. 123 +/2

14. 7V/5 + 4/5 111/5

16. 3v/5 — 220 —V5

18. 7V/3 — 2V2 + 3V2 + 53

20. V6(2V10 + 3v2) 4V15 +6V3
22. 5v3(6V10 — 6V3) 30/30 — 90
24. (3v/11 + 3v15)(3V3 — 2v/2)
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Extra Practice is on page R10.
23. 35 + 6 — /30 —
15. 2/6 + 96 11/6 21/6_

17. 3V/50 — 3v32 3V2 24. 94/33 — 61/22 +
19. V5 (V2 + 4v2) 5V10 27+/5 — 630

21. 4/5(3V/5 + 8v2) 60 + 3210
o @ =3

23. (V3 — v2)(V15 + V12)
)5\/_+5\/_
D

25. (5v2 + 3v/5)(2v10 —
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~ractice and Problem Solving Extra Practice is on page R10.

Examples 1-3Simplify each expression. 18.12V/3 + /2 23.3/5 + 6 — /30 —
14. 7/5 + 41/5 114/5 15. 21/6 + 96 116 2V6
16. 35 — 2v/20 —V5 17. 3V/50 — 3V32 3V2_ 24. 9v/33 — 622 +
18. 7V/3 — 2V2 + 3V2 + 5V3 19. V5(V2 + 4v2) 5V10 27/5 — 6+/30

20. V6(2V10 + 3v2) 4V15 + 63 21. 4/5(3V/5 + 8v2) 60 + 3210
22. 5v/3(6V10 — 6v/3) 30v/30 — 90 23. (V3 - v2)(V15 + V12)
24. (3v11 + 3v15)(3V3 — 2V2) 25. (5v2 + 3v/5)(2v/10 — 5) 5v5 + 5V2
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